REVISION EXERCISE ON CE Probability
1. The probability that John will win a computer game is 0.6. If he plays the game twice, find the probability that he will win at least once.

   Suggested Solution

	Method 1

P (win at least once) = P(NOT lose twice)

= 1- (0.4)(0.4)

= 0.84
Method 2

P (win at least once) = P(win twice) + P(1st win and 2nd lose) + P(1st lose and 2nd win)

= (0.6)(0.6) + (0.6)(0.4) + (0.4)(0.6)

= 0.84


2. There are 2 boys and 3 girls in room A and 3 boys and 1 girl in room B. A child is sent from room A to room B, then a child in room B is called. What is the probability that the child called is a boy?

   Suggested Solution
	  The required probability

 = P (a boy is sent to room B and a boy is called) + P (a girl is sent to room B and    

   a boy is called) 

 = (0.4)(0.8) + (0.6)(0.6)

 = 0.68


3. A person can go from X to Y either through roads A and C or roads B and C. The probabilities of having congestion at A, B and C are 0.2, 0.3 and 0.4 respectively. What is the probability that 

   (a) there will be congestion when he goes from X to Y by choosing roads at random?

   (b) there will be no congestion when he goes from X to Y by choosing roads at random?
   Suggested Solution
	(a)   

  P (choosing roads A and C and having congestion)

= (0.5) [ 1 – (1 – 0.2)(1 – 0.4)] 

= 0.26  

  P (choosing roads B and C and having congestion)

= (0.5) [ 1 – (1 – 0.3)(1 – 0.4)] 

= 0.29

( The required probability = 0.26 + 0.29 = 0.55

(b) 

Method 1

  P(no congestion)

= 1 – P(congestion)

= 1 – 0.55 

= 0.45

Method 2

  P(no congestion)

= (0.5)(0.8)(0.6) + (0.5)(0.7)(0.6)

= 0.24 + 0.21 

= 0.45


